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Rhind Papyrus

(c. 1650 BC)
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Problem 25
R W’ﬂﬁg and tts = odded ‘Eosdhr Bmm.l‘
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Eqyption fractions

Unit fractions :

(reciprocals)
=~ (and %)

1%

Rhind. poapynis, Problem 31

A quantity , its 33-, cks -&-,

odded. together, become 33.

Whak is the quantity ’

L Solve: x «+ %—& + —‘-ixi- -,‘7:& =z 331

Solutwon: The total s
14 + <

4 56 97

which multipled by | 3 + 5
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A Problem in Geomekny (<. 1650 R C)

& e Fa ="

Problem 8. Compare the areosof a

Cirele and tks cmcnbmﬁ squore .

The circle of diamdwrd  The square of side 9

l B setat ~ | 9 setat

2 16 setax 2 I8 sctak

g 32 sctok 36 sckoat
N 8 64 sekak 72 setok

81 setot




Mesopotamian

C Lcua toblets — cuneiform wﬁﬂns

ploce-value system based on 60: <, |

<l<<< = 4)(60)+4L0, or 4) 22

v oo
60




Multiplication Tables

0 e s B e o s
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Weighing o Jtone

T Sound o stone, bub did not weigh it;
‘ ofter 1 wo.'\skc.& ouk b tumes (ks wds\\-b, .
odded 2 gun,

ond. added one-thwd of one-seventh

rmultiplied by 2.4,
1 werghed tk: | ma-nao..
\Jko& Was the ongunal weight of the stone?

[Toblet hod 22suchproblems : | ma-naz 60qin ]
Solution :

(bx+2)+ L. L.24 (6x+42) = 60 gin
~ 1

S0 X = 43 gin




Selvun

q o "Quadratie E{M‘Hou’

you multiply. Yow add O;15 4o 14,30,

Result ' 16.,30; 1S, This is the square of 29;30,

You 0dd ©0;30, which you multiplied, 4o 29; 30.

Result: 30, e scde of the square.,




= {t

30

de of Sq uore

1; 24,51 10 ¥ V2

42; 25,35 x 30V2

(1; 24, 81,10)"
z1;59,54,59,1%,L Lo
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Lhou-beil suanjing
(The owi.tkmhiql. classic of the gnomon ...)

-\
#
e = e & oa
I —— e — e — i = -

Disseckion proos of Pythagoras's Theorem.’
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RBvoken

bamboo problum

- There is &= bamboo 10 fect ‘\':3‘\;
the upper end of which b‘;‘S broken
reoches tha ground 3 Fak fromthe stem,




246 questons
with answers
(but wo ’worltins')

¢+ simultanecous equations



3 bundles of A, 205 B, 16§ C 3 39 measures ;
2 bunkles of A, 3088, 165C 2 3l mensures;
| bundle of A, 20f B, 30f € 3 26 measwes,
How mony Mmeasures kmbu&o}ud\bs”?

M 3A+28+1C = 39
(2) 15*3344: s 3L
3) I1A+28 ¢+ 3C =26

36C =99 C= 23,
. > SBsCz226 1Bz 4 ‘
3R+28+C239 (A= Q9




W= Jio

Lewe Hut (263 ADY . W= 314189

Z|\M\3 Husg (100 AD) °

Zu Cl\m\gﬂw(sooﬂb) ™=3-1461S92 6
' and T~ 355/3




Three Indian Mathemoticions

"SOOAD: Arnyabhata the elder :
o $irst systemakic treakmunt of

Diophontine equebions (conbinued fracting)
. ‘b;\gomuub\j (sine tables)

atf' J{..-..F"'i}lz *J{G-‘mul
fwc.umpu J11+d2e = /M2 + /5.
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Positwe ov ve dove
negqotwve duvided by cpher s

0 frockion with thet os denomuetor
- (2
0

>4
tn

Clpher divided by positwe ov negetwe (s ... (




Bhoaskare (1100AD) : “Pell’s uumhom

Tell me, O mathematician, what is thet
- Squore which multiplicd by 8 becomes —
toqether with unity = a square ?

In gm, solve Cx?*+1: g‘
C=67:

677 5+ = 3"

Solution : %x325967, y: L88L2



bth centuny BC : Susruta -
. Combinakions 0f tastes, taken 1,2,3, .-

2):15, (§)=20,

C.3008C ! Jaunas Bhgaboks Sutra):
Combuvations of e swcé,
O of men, Women and eunuchs ...

C.2008¢C: Pussula (Chondrasutro) :
combu\abwﬂ of shovt| Lons sound s un

- o, ete.)

ot o tune ¢

o metneal poem (— v v

c. SSOAD: Varahamihiro (Brivek samhito):
moke pu:;wuc $oive e msn&tu&t out of 16:

11S0 AD: RBhashare (Liloaveati):
qove qeneral nles for 0!, :\, ete.




The Binomial Theorem

(1 # 2 = | 4+ 2 + x?*

3

(1+) | ¢+ 3 4 I+ X

L

(V42)* = lalxe bx*+4x®+x

) 4T s (TYx s -ca ()"

(n } - - e NIN=1)N=2)--(n=r+s1)
. 3.2.1

(1+4)" =

r (r=1)(r-2)




The eorliest ‘Pascal’s ¢
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